BEM6—7K HEHM. DEHE. KB KITT R rers1me

BB DS DEEEYSD LR NITT
ik 9S5JTEH Pk 9S5JTEH Pk 9S5JTEH
® B 394 41,603 207 43,889 39 44,155
i B 276 32,524 141 35,473 20 38,354
BT & 118 9,079 66 8.416 19 5,801
% £ H 0 0 1 5187 1 703 | PEET  H1BLI&HE
— R AT, BEAT
A B W 47 5,082 22 3,830 1 5664 |  Hiss2rab
RN BRI
- . =4, X2 B
= . ERAT, EFET, L%
5 3014 2 4312 0 o] " nrr2iag
FaRm 24 2,581 1 125 1 400 | EFET Hi1s.1 2384
R R, K=
£ [it] BT, BEAT, £ R A
29 2,866 24 2,843 1 170 H17.278 8
BTE I LH
. . 4 K0RT, FEEIT, 45 )11
G RN . EBRLOH
12 1,005 3 214 1 547 H172.135 5t
X R W 1 603 5 1108 0 o]l wEumas
(| N
WOR M 1 122 1 72 0 o| mmEmAR
B E ™ 14 2185 0 0 1 200 | WEvEREAL
& 18T, (LIFRT. BIES AT
B OB T BB, £ KA
3 332 1 142 1 229 H16.10.25& 6
X E ik
fitl 15 1,866 0 0 1 170 | AT HBAERHEE
T B m 2 86 2 33 1 1,108 | +uEAEREAL
&£FRART™ 31 4560 17 9.075 ’ 6.303 | NBET  H1eTTIAGE
] 15 3316 0 0 0 o | FILET  HI751E6
o BEET. FE B, 0
e Rw 10 678 4 288 1 676 BTH15.4.1 &6
e HRgRT, FERERTH15.5.1 & 6
¥R 2 166 : 26 1 350 | wmmEmeBER)
AT, AaH. B
B oW 9 631 0 0 1 9,090 |#1. fRMEHET H16.2.156f
. REBET. EEAT. %R
xR W 6 753 12 3,285 4 343 | BT REH H16.2.1&66F
J\IEHT | 8T, B S
BT, BEH . E1H ., 5
B L H = A
EX S| 7 H16.3.1
20 356 31 2354 1 5330 | £ FRH =
TURET . NRET. T2
5 o= @ BT . % ILIBT, B A
13 883 4 437 1 6,800 H16.3.15 8
: ST, AT, R
B/ E W 16 1139 10 2,092 1 181 H17.3.282 ft
B & E 12 1,375 0 0 2 81
Iy B HT
6 294 0 0 1 2] pemnsEs
o
¥ oW E 6 781 0 0 1 59
% = s 18 957 8 902 1 1375
® 2 18 957 8 902 1 1375 | EEETHIAE
X W I 21 1145 12 1018 2 424
F HF H
16 963 9 602 1 200 | rpeounee s
B o IR ET 5 182 3 416 1 125




BEM6—7K HEHM. DEHE. KB KITT R rers1me

WEEEIZD DEEEYST T RIZT
Pk 95TER ok 95TER Pk 95TER
= )\ B 5 7 538 11 1,085 3 453
W 7 7 4 149 4 194 1 198
W 2 7 Ay 3 389 4 519 1 105 | FERBESE
= )\ H 0 0 3 372 1 150
B % B 5t 27 2,567 29 4,305 3 896
AR . & BN, XEH.
g BEIEAT . IRF H17.1.31
15 2 )I| BT 11 712 15 1,110 1 485 a4
x B E 7 727 8 2,591 1 051 | EERHIHEE
ith B Hr 9 1,128 6 604 1 160 |  KIEHMHEE
& B OB 5 6 732 4 1,027 1 51
it A Hr 6 732 4 1,027 1 51 | ARBHFHMES
moE B s 21 1,250 1 12 5 2,141
R HT 3 217 1 12 1 54
E S0 H 1 139 0 0 0 0
JIl A A 3 258 0 0 0 0
+t = H 2 96 0 0 1 oq | TEABEBREE
A== 2: 5 274 0 0 1 75
=II: 6 211 0 0 1 1,878
EH=DIIES 1 55 0 0 1 40
AR B B 5 461 0 0 1 95
# & 5 461 0 0 1 o5 | IRAMEHMEE
X B & &t 1 54 1 67 1 285
B Il # 1 54 1 67 1 285 | [B) 1% 155 755R)




